The Garden Party

Exemplification

The words below can be used to signal when you want to give an example.

for example 
including 
examples of 
such as

can be illustrated by 
as shown by 
An example is 
as in

This is shown by 
for instance 
  
 

Instructions:

Find the evidence in the text for each statement or topic sentence in bold text below. Copy each of the sentence starters numbered 1-6 into your book. You may use the same example from the text more than once, but you should try and improve your language each time you write another example. Please note the punctuation and use it correctly when writing your sentences.

Mrs Sheridan takes her responsibilities as a mother seriously in preparing her daughters for society.

   1. Mrs Sheridan provides opportunities for her daughters to develop their social skills. This is illustrated by

   2. Mrs Sheridan provides opportunities for her daughters to develop their social skills, as can be illustrated by

   3. Mrs Sheridan provides opportunities for her daughters to develop their social skills, such as

   4. An example of the opportunities that Mrs Sheridan provides for her daughters to develop their social skills is

   5. Mrs Sheridan provides opportunities for her daughters to develop their social skills, for instance, 

Mrs Sheridan's lack of compassion at the death of a worker shows the disparity between social classes.

   6. An example of Mrs Sheridan's lack of compassion is

   7. She is unsympathetic to others who are less fortunate then herself, for example:

   8. Mrs Sheridan dismissed problems of others less fortunate than herself, as in the situation of

   9. Mrs Sheridan was only concerned about herself and how she would appear to others of the same social standing. This can be illustrated by

  10. Mrs Sheridan was only concerned about correct social conventions, as can be illustrated

Exemplification - Teacher Instructions and Answers

Sample answer:

   1. Mrs Sheridan provides opportunities for her daughters to develop their social skills. This is illustrated by her leaving the arranging of the garden party to her daughters. 

   6. An example of Mrs Sheridan's lack of compassion is her relief when she learnt that the worker had not died in her garden. 

The same answer may be used for numbers 1-5 and for numbers 6-10, but note that there will be small changes in grammar and it is this that students should focus on getting correct. Model the first one and let students work out the next four. Do numbers 6-10 the next day.

